BIOLOGY

BOOKS - FULL MARKS BIOLOGY (TAMIL
ENGLISH)

LOCOMOTION AND MOVEMENT

Textbook Evaluation Questions Solved

1. Muscles are derived from


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1oJRSDJUw893

A. ectoderm

B. mesoderm

C.endoderm

D. nheuro ectoderm

Answer: B

o Watch Video Solution

2. Muscles are formed by

A. myocytes


https://dl.doubtnut.com/l/_1oJRSDJUw893
https://dl.doubtnut.com/l/_Geye0mtV1IdL

B. leucocytes

C. osteocytes

D. lymphocytes

Answer: A

o Watch Video Solution

3. The muscles attached to the bones are

called

A. skeletal muscle


https://dl.doubtnut.com/l/_Geye0mtV1IdL
https://dl.doubtnut.com/l/_iqaWHfex35Ty

B. cardiac muscle

C. involuntary muscle

D. smooth muscles

Answer: A

o Watch Video Solution

4, Skeletal muscles are attached to the bones

by

A. tendon


https://dl.doubtnut.com/l/_iqaWHfex35Ty
https://dl.doubtnut.com/l/_6S38zlqZZjI7

B. ligament

C. pectin

D. fibrin

Answer: A

o Watch Video Solution

5.The bundle of muscles fibres is called

A. myofibrils

B. fascicle


https://dl.doubtnut.com/l/_6S38zlqZZjI7
https://dl.doubtnut.com/l/_zpT24jCDg1u5

C. sarcomere

D. sarcoplasm

Answer: B

° Watch Video Solution

6. The pigment present in the muscle fibre to

store oxygen is

A. myoglobin

B. troponin


https://dl.doubtnut.com/l/_zpT24jCDg1u5
https://dl.doubtnut.com/l/_Uf9BEmoc1SXL

C. myosin

D. actin

Answer: A

° Watch Video Solution

7. The functional unit of a muscle fibre is

A. sarcomere

B. sarcoplasm

C. myosin


https://dl.doubtnut.com/l/_Uf9BEmoc1SXL
https://dl.doubtnut.com/l/_2HDYYSs3trY0

D. actin

Answer: A

o Watch Video Solution

8. The protein present in the thick filament is

A. myosin

B. actin

C. pectin

D. leucin


https://dl.doubtnut.com/l/_2HDYYSs3trY0
https://dl.doubtnut.com/l/_Ou9x9FVsywOl

Answer: A

o Watch Video Solution

9. The protein present in the thin filament is

A. myosin

B. actin

C. pectin

D. leucin

Answer: B


https://dl.doubtnut.com/l/_Ou9x9FVsywOl
https://dl.doubtnut.com/l/_rDbDNjMB2Yu2

° Watch Video Solution

10. The region between two successive Z-discs

is called a

A. sarcomere

B. microtubule

C. myoglobin

D. actin

Answer: A

| 8 l


https://dl.doubtnut.com/l/_rDbDNjMB2Yu2
https://dl.doubtnut.com/l/_eSAVww6VY3mg

11. Each skeletal muscle is covered by

A. epimysium

B. perimysium

C. endomysium

D. hypomysium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_eSAVww6VY3mg
https://dl.doubtnut.com/l/_dbZyyMffGxp7
https://dl.doubtnut.com/l/_imzUmqBQ0tz1

12. Knee joint is an example of ....

A. saddle joint
B. hinge joint
C. pivot joint

D. gliding joint

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_imzUmqBQ0tz1

13. Name of the joint present between the

atlas and axis is

A. synovial joint

B. pivot joint

C.saddle joint

D. hinge joint

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IaMEe7oyVkBs
https://dl.doubtnut.com/l/_RkqRco5xQGjs

14. ATPase enzyme needed for muscle

contraction is located in

A. actinin

B. troponin

C. myosin

D. actin

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RkqRco5xQGjs

15. Synovial fluid is found in

A. Synovial fluid is found in .....

B. spinal cord

C. immovable joint

D. freely movable joints

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9WkiBkqasnlE

16. Inflammation of joints due to accumulation

of uric acid crystals is called as

A. gout

B. myasthenia gravis

C. osteoporosis

D. osteomalacia

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Mi7NDh2iOLbf
https://dl.doubtnut.com/l/_OTHyUFSWF3jQ

17. Acetabulum is located in

A. collar bone

B. hip bone

C.shoulder bone

D. thigh bone

Answer: B

° Watch Video Solution

18. Appendicular skeleton is


https://dl.doubtnut.com/l/_OTHyUFSWF3jQ
https://dl.doubtnut.com/l/_q2bcXNfHryG1

A. girdles and their limbs

B. vertebrae

C. skull and vertebral column

D. ribs and sternum

Answer: A

o Watch Video Solution

19. The type of movement exhibits by the

macrophages are


https://dl.doubtnut.com/l/_q2bcXNfHryG1
https://dl.doubtnut.com/l/_und7O9PwE1ct

A. flagellar

B. ciliary

C. muscular

D. amoeboid

Answer: D

° Watch Video Solution

20. The pointed portion of the elbow is

A. acromion process


https://dl.doubtnut.com/l/_und7O9PwE1ct
https://dl.doubtnut.com/l/_WJzVOY2Bnxk2

B. glenoid cavity

C. olecranon process

D. symphysis

Answer: C

o Watch Video Solution

21. Name the different types of movement.

o Watch Video Solution



https://dl.doubtnut.com/l/_WJzVOY2Bnxk2
https://dl.doubtnut.com/l/_fJ9QfeZGHpGX
https://dl.doubtnut.com/l/_F5Lk5sVh61yb

22. Name the filaments present in the

sarcomere.

° Watch Video Solution

23. Name of the contractile proteins present in

the skeletal muscle.

o Watch Video Solution

24. When describing a skeletal muscle, what

does "striated" mean?


https://dl.doubtnut.com/l/_F5Lk5sVh61yb
https://dl.doubtnut.com/l/_zZijRitKHpwc
https://dl.doubtnut.com/l/_q9njraozK2vg

° Watch Video Solution

25. How does an isotonic contraction take

place?

o Watch Video Solution

26. How does an isometric contraction take

place?

° Watch Video Solution



https://dl.doubtnut.com/l/_q9njraozK2vg
https://dl.doubtnut.com/l/_giOOWy5L6spL
https://dl.doubtnut.com/l/_hsje8VEzZVrO
https://dl.doubtnut.com/l/_wWd17jAOD15q

27. Name the bones of the skull.

° Watch Video Solution

28. Which is the only jointless bone in human

body?

o Watch Video Solution

29. List the three main parts of the axial

skeleton.

| e |


https://dl.doubtnut.com/l/_wWd17jAOD15q
https://dl.doubtnut.com/l/_ECavjlYUASys
https://dl.doubtnut.com/l/_pGtr1FqFuuVQ

& Watch Video Solution

30. How is tetany caused?

° Watch Video Solution

31. How does rigor mortis happen?

° Watch Video Solution



https://dl.doubtnut.com/l/_pGtr1FqFuuVQ
https://dl.doubtnut.com/l/_ZK1eMJm1ALSH
https://dl.doubtnut.com/l/_zYG6M7zchNeY

32. What are the different types of rib bones

that form the rib cage?

o Watch Video Solution

33. What are the bones that make the pelvic

girdle?

o Watch Video Solution

34. List the disorders of muscular system.



https://dl.doubtnut.com/l/_u2zJOa4467HO
https://dl.doubtnut.com/l/_GPg3whuAmXL0
https://dl.doubtnut.com/l/_YMndsYBIzb1h

o Watch Video Solution

35. Define sliding filament theory of muscle

contraction.

o Watch Video Solution

36. What are the benefits of regular exercise?

o Watch Video Solution

In Text Questions Solved


https://dl.doubtnut.com/l/_YMndsYBIzb1h
https://dl.doubtnut.com/l/_DO3mXCiEjaRU
https://dl.doubtnut.com/l/_CWuVYBJom6Au

1. Which myofilament has the binding sites for
calcium? Name the specific molecule that

binds with calcium.

o Watch Video Solution

2. All muscles produce movement, but only
skeletal muscle is responsible for locomotion.

What is meant by this statement?

o Watch Video Solution



https://dl.doubtnut.com/l/_GVe9r3DXpjNy
https://dl.doubtnut.com/l/_WdlJ5hAW8LtX

3. The pelvie girdle is a heavy, strong girdle.

How does its structure reflect its function?

o Watch Video Solution

4. An exhausted student was attending a
lecture. After 30 minutes or so, he lost interest
and he let go with ia tremendous yawn. To his
great distress he couldn't his mouth-his lower
jaw was locked open. What do you think would

have caused it?

| & |


https://dl.doubtnut.com/l/_SwCUPdXX8Kxg
https://dl.doubtnut.com/l/_h2KsiFEw7C3z

| ¥ Watch Video Solution

Entrance Exam Questions Solved

1. Which is the longest bone of fore limb?

A. Humerus
B. Femur
C. Carpals

D. Fibular

Answer: A



https://dl.doubtnut.com/l/_h2KsiFEw7C3z
https://dl.doubtnut.com/l/_jypaGP0IV5yf

[ ° Watch Video Solution

2. In which bone triangular acromion is

present ?

A. Radias

B. Scapular

C. Femur

D. Humerus

Answer: C

l a Watch Video Solution


https://dl.doubtnut.com/l/_jypaGP0IV5yf
https://dl.doubtnut.com/l/_mZNnJlZYrWfU

3. Humerus bone is found:

A. Radias

B. Ulna

C. Arm

D. Fore arm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mZNnJlZYrWfU
https://dl.doubtnut.com/l/_COCHU11Jvphh
https://dl.doubtnut.com/l/_H6giLZl8qG61

4. Hinge joint occurs between:

A. Humerus and radio-ulna

B. Femur and pelvic girdle

C. Humerus and Pectoral girdle

D. Skull and atlas

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H6giLZl8qG61

5. Name the regions of the vertebral column

and the number of vertebrae present in them.

A.30

B.32

C.33

D. 35

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_otj9gcjw8mrc
https://dl.doubtnut.com/l/_lpZlcrS1dTzt

6. Number of bones present in an arm is........

A.30

B.32

C.35

D. 40

Answer: A

° Watch Video Solution

7. Ribs are attached to:


https://dl.doubtnut.com/l/_lpZlcrS1dTzt
https://dl.doubtnut.com/l/_Ba4r86wrTh0c

A. Scapula

B. Sternum

C. Clavicle

D. llium

Answer: B

° Watch Video Solution

8.In humans, coccyx is formed by the fusion of

vertebrae.


https://dl.doubtnut.com/l/_Ba4r86wrTh0c
https://dl.doubtnut.com/l/_WZwbjKTsuluw

A3

B.4

C.5

D.6

Answer: B

o Watch Video Solution

9. List the bones of the Pectoral girdle.

A. Body skeleton


https://dl.doubtnut.com/l/_WZwbjKTsuluw
https://dl.doubtnut.com/l/_nxfoZi5HlX2z

B. External skeleton

C. Axial skeleton

D. Appendiculr skeleton

Answer: D

o Watch Video Solution

10. There are.......pairs of floating ribs.

A. 6 pairs

B. 5 pairs


https://dl.doubtnut.com/l/_nxfoZi5HlX2z
https://dl.doubtnut.com/l/_rF75YMu3kUeg

C. 3 pairs

D. 2 pairs

Answer: D

° Watch Video Solution

11. Ankle joint is: ..........

A. Pivot joint

B. Ball and socket joint

C. Hinge joint


https://dl.doubtnut.com/l/_rF75YMu3kUeg
https://dl.doubtnut.com/l/_IPeuhx05z2B2

D. Gliding joint

Answer: D

° Watch Video Solution

12. Sarcomere is distance between: ...........

A. Two I-bands

B. A and | bands

C. Two consecutive Z-lines

D.Z and A bands


https://dl.doubtnut.com/l/_IPeuhx05z2B2
https://dl.doubtnut.com/l/_Btkjl2O7NbBh

Answer: C

o Watch Video Solution

13. Which is the skull bone

A. Atlas

B. Femur

C.Tibia

D. Nasal

Answer: D


https://dl.doubtnut.com/l/_Btkjl2O7NbBh
https://dl.doubtnut.com/l/_lSzaxOSHJeAf

° Watch Video Solution

14. How many bones are there in appendicular

skeleton?

A. 80

B. 120

C.126

D. 206

Answer: C

| 8 l


https://dl.doubtnut.com/l/_lSzaxOSHJeAf
https://dl.doubtnut.com/l/_520aoP1znGlB

15. Hinge joint occurs between:

A. Elbow and shoulders
B. Elbow and knee

C. Atlas and odontoid process

D. Knee and ankle

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_520aoP1znGlB
https://dl.doubtnut.com/l/_2IN86e8y5x6T
https://dl.doubtnut.com/l/_WXYPlVpXioy2

16. Number of ball and socket joints present in

human body is:

A2

B.4

C.5

D.8

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WXYPlVpXioy2
https://dl.doubtnut.com/l/_y7bDaYk9Fd4X

17. Synovial joints is: ...........

A. Ball and socket joint

B. Pivot joint

C. Hinge joint

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_y7bDaYk9Fd4X

18. The human cranium is made of

bones.

A.8

B.10

C.14

D. 20

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5VUtPfBsVYiZ
https://dl.doubtnut.com/l/_LzgNirWO2WF1

19. Cervical vertebrae are located in.............

A. Thoracic region

B. Abdominal region

C. Neck region

D. Hip region

Answer: C

° Watch Video Solution

20. Lumbar vertebrae are located in ............


https://dl.doubtnut.com/l/_LzgNirWO2WF1
https://dl.doubtnut.com/l/_jB0LOTZnb6xW

A.region

B. Thorax

C. Abdominal region Neck

D. Hip region

Answer: C

° Watch Video Solution

21. Red muscle arerich in ......

A. Myoglobin


https://dl.doubtnut.com/l/_jB0LOTZnb6xW
https://dl.doubtnut.com/l/_PuZy0YIUjXbw

B. Actin

C. Myosin

D. Albumin

Answer: A

o Watch Video Solution

22. Friction is lessened in ball and socket joint

o)A

A. Coelomic fluid


https://dl.doubtnut.com/l/_PuZy0YIUjXbw
https://dl.doubtnut.com/l/_pEfZWgrMvX3z

B. Synovial fluid

C. Pericardial fluid

D. Mucin

Answer: B

o Watch Video Solution

23. What are the bones that make the pelvic

girdle?

A. Ischium


https://dl.doubtnut.com/l/_pEfZWgrMvX3z
https://dl.doubtnut.com/l/_NrjaZHNexfdb

B. llium

C. Pubis

D. All the above

Answer: D

o Watch Video Solution

24. Extremities of long bones possess

cartilage............

A. Calcified


https://dl.doubtnut.com/l/_NrjaZHNexfdb
https://dl.doubtnut.com/l/_cKSDpGaGQcAz

B. Fibrous

C. Elastic

D. Hyaline

Answer: D

o Watch Video Solution

25. Glenoid cavity is found in ...

A. Pelvic girdle

B. Skull


https://dl.doubtnut.com/l/_cKSDpGaGQcAz
https://dl.doubtnut.com/l/_U2hnhh5cDt4M

C. Pectoral girdle

D. Sternum

Answer: C

O Watch Video Solution

26. An example of gliding joints

A. Humerus and glenoid cavity

B. Femur and tibio-fibula


https://dl.doubtnut.com/l/_U2hnhh5cDt4M
https://dl.doubtnut.com/l/_Dp6JCv4egJbT

C. Occipital condyle and odontoid process

D. Zygapophyses of adjacent vertebrae

Answer: B

o Watch Video Solution

27. Describe the important steps in muscle

contraction.

A. Size of A-bands remains the same

B. Size of H-zone becomes smaller


https://dl.doubtnut.com/l/_Dp6JCv4egJbT
https://dl.doubtnut.com/l/_EwQvdZhaoAYg

C. Size of I-bands decreases

D. All the above

Answer: D

O Watch Video Solution

28. Substance that accumulates in a fatigued

muscle is ..............

A. Pyruvic acid

B. Lactic acid


https://dl.doubtnut.com/l/_EwQvdZhaoAYg
https://dl.doubtnut.com/l/_sFFP1utVZZ6X

C.CO,

D. ADP

Answer: B

O Watch Video Solution

29. Lack of the relaxation between successive
stimuli in sustained muscle contraction is

known as...........

A. Fatigue


https://dl.doubtnut.com/l/_sFFP1utVZZ6X
https://dl.doubtnut.com/l/_UObWcigEpjI4

B. Tetanus

C. Tonus

D. Spasm

Answer: B

o Watch Video Solution

30. Which ion is essential for muscle

contraction?

A. Na


https://dl.doubtnut.com/l/_UObWcigEpjI4
https://dl.doubtnut.com/l/_7ED8ErlZeATH

B.K

C.Ca

D. Cl,

Answer: C

o Watch Video Solution

31. Ends of long bones are covered by ...

A. Ligaments

B. Cartilage


https://dl.doubtnut.com/l/_7ED8ErlZeATH
https://dl.doubtnut.com/l/_XSvj8cG4bnCa

C. Muscles

D. Blood cells

Answer: D

° Watch Video Solution

32. Acromion is seen In.

A. Vertebral column

B. Pelvic girdle

C. Femur


https://dl.doubtnut.com/l/_XSvj8cG4bnCa
https://dl.doubtnut.com/l/_8cSlKopsMaTn

D. Pectoral girdle

Answer: D

o Watch Video Solution

33.In mammals the lower jaw is made of........

A. Maxilla

B. Dentary

C. Mandible

D. Ethmoid


https://dl.doubtnut.com/l/_8cSlKopsMaTn
https://dl.doubtnut.com/l/_A2rfICYS7PZC

Answer: C

o Watch Video Solution

34. Inter-articular disc occur in .......

A. Wall of heart

B. Wall of liver

C. Pubic symphysis

D. In between two vertebrae

Answer: D


https://dl.doubtnut.com/l/_A2rfICYS7PZC
https://dl.doubtnut.com/l/_xNFWK8OXkiY9

° Watch Video Solution

35. Acetabulum is part of ...

A. Pelvic girdle

B. Pectoral girdle

C.Fore arm

D. Upper arm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xNFWK8OXkiY9
https://dl.doubtnut.com/l/_yvAK75e4ostj

36. The function unit of contractile system of a

striated muscles is .........

A. Sarcomere

B. Z-band

C. Cross bridge

D. Myofibril

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yvAK75e4ostj
https://dl.doubtnut.com/l/_Hheczyx1JQ12
https://dl.doubtnut.com/l/_jP2UJTp05qny

37. Fibrous joints are present between ...

A. Thumb and metatarsal

B. Humerus and radio-ulna

C. Bones of skull

D. Glenoid cavity and pectoral girdle

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jP2UJTp05qny

38. Joint of sternum and ribs is ......

A. Fibrous joint

B. Angular joint

C. Hinge joint

D. Cartilaginous

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KVB1W97c2SfI

39. During strenuous exercise,glucose is

converted into

A. glycogen

B. pyruvic acid

C. starch

D. lactic acid

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PLqWdQigzbME
https://dl.doubtnut.com/l/_Rl6DFzxiYEI0

40. Synovial fluid is found in

A. Spinal cavity

B. Cranial cavity

C. Freely movable joints

D. Fixed joints

Answer: C

° Watch Video Solution

41. Synovial fluid is secreted by ......


https://dl.doubtnut.com/l/_Rl6DFzxiYEI0
https://dl.doubtnut.com/l/_Tba7ZPS4or71

A. Blood

B. Cartilage

C.Bone

D. Synovial membrane

Answer: D

° Watch Video Solution

42. lliac of pelvic girdle is articulated with

sacrum for ...


https://dl.doubtnut.com/l/_Tba7ZPS4or71
https://dl.doubtnut.com/l/_Km6A8yndgL5z

A.Bending

B. Jumping

C. Support

D. Running

Answer: A

° Watch Video Solution

43. Anisotropic band are made up of ........

A. Myosin filaments


https://dl.doubtnut.com/l/_Km6A8yndgL5z
https://dl.doubtnut.com/l/_jLxaZHYo2gv1

B. Actin filaments

C. Elastin filaments

D. Both Aand B

Answer: D

o Watch Video Solution

44. Socket in pelvic girdle in which head of

femur articulates is formed by fusion of .......

A. Ischium and pubis


https://dl.doubtnut.com/l/_jLxaZHYo2gv1
https://dl.doubtnut.com/l/_6GRNS9L7Fw8g

B. llium and pubis

C. llium and ischium

D.Bothaandb

Answer: C

o Watch Video Solution

45. The movable skull bone is ..........

A. Maxilla

B. Vomer


https://dl.doubtnut.com/l/_6GRNS9L7Fw8g
https://dl.doubtnut.com/l/_mF2ovkAgT63i

C. Mandible

D. All the above

Answer: D

o Watch Video Solution

46. Gliding joint occur between.............

A. Prezygapophysis and postzygapophysis

B. Acetabulum and femur

C. Pelvis girdle and femur


https://dl.doubtnut.com/l/_mF2ovkAgT63i
https://dl.doubtnut.com/l/_2u0ITky8lTwN

D. Humerus and radius

Answer: D

o Watch Video Solution

47.Red muscle arerich in ......

A. Golgi bodies

B. Mitochondria

C. Lysomomes

D. Ribosomes


https://dl.doubtnut.com/l/_2u0ITky8lTwN
https://dl.doubtnut.com/l/_Muxqwdq2dg9i

Answer: B

o Watch Video Solution

48. Name of the joint present between the

atlas and axis is

A. Pivot

B. Hinge

C. Angular

D. Saddle


https://dl.doubtnut.com/l/_Muxqwdq2dg9i
https://dl.doubtnut.com/l/_NfEcojla81CG

Answer: A

o Watch Video Solution

49.The longest bone amongst the following is

A. radius

B.ulna

C. humerus

D. femur


https://dl.doubtnut.com/l/_NfEcojla81CG
https://dl.doubtnut.com/l/_NXyM8ja2jwfw

Answer: D

o Watch Video Solution

50. Joint between metacarpals and phalanges

A. Ball and socket

B. Pivot

C. Saddle

D. Hinge


https://dl.doubtnut.com/l/_NXyM8ja2jwfw
https://dl.doubtnut.com/l/_Y6k7IGu1oeAa

Answer: D

o Watch Video Solution

51. ATPase enzyme needed for muscle

contraction is located in

A. actin

B. troponin

C. myosin

D. actin


https://dl.doubtnut.com/l/_Y6k7IGu1oeAa
https://dl.doubtnut.com/l/_BQgGrZis7Ukv

Answer: C

o Watch Video Solution

52. Make correct pairs from the Column -1 and

Column -1l
Types of Synovial Joint Bones Involved
S.No. Column - 1 S.No. Column -II

P | Ball and socket (/) | Carpal and metacamal of ﬂmmb
Q |Hinge (if) Atlas and axis e y
R | Pivot (i) LB i

S | Saddle (iv) |Kne

. &

A.(P-ii) (Q-iv) (R-ii)(S-Vv)

B. (P-ii) (Q-iii) (R-1)(S-v)


https://dl.doubtnut.com/l/_BQgGrZis7Ukv
https://dl.doubtnut.com/l/_QXi2bvaI3vWy

C.(P-1i)(Q-V) (R-1v)(S-ii)

D.(P-v)(Q-iv) (R-ii) (S-1)

Answer: D

O Watch Video Solution

53. The protein present in the thick filament is

A. tropomyosin

B. myosin

C. actin


https://dl.doubtnut.com/l/_QXi2bvaI3vWy
https://dl.doubtnut.com/l/_FGX7jLWCVQVD

D. troponin

Answer: C

o Watch Video Solution

54.True joints are ...

A. Synchondroses

B. Syndesmoses

C. Synovial

D. Ball and socket


https://dl.doubtnut.com/l/_FGX7jLWCVQVD
https://dl.doubtnut.com/l/_qQulWwz6RfFw

Answer: A

o Watch Video Solution

55. The pivot joint between atlas and axis is a

A. cartilaginous joint

B. synovial joint

C.saddle joint

D. fibrous joint


https://dl.doubtnut.com/l/_qQulWwz6RfFw
https://dl.doubtnut.com/l/_UMhQKYvXYiAG

Answer: B

o Watch Video Solution

56. Name the ion responsible for unmasking of

active sites for cross-bridge activity during

muscle contraction ..........

A. sodium

B. potassium

C. calcium

D. magnesium


https://dl.doubtnut.com/l/_UMhQKYvXYiAG
https://dl.doubtnut.com/l/_WuuJJSnzWt8y

Answer: C

o Watch Video Solution

57. Sliding filament theory can be best

explained as ...

A. when myofilaments slide pass each other

actin filaments shorten while myosin

filaments do not shorten


https://dl.doubtnut.com/l/_WuuJJSnzWt8y
https://dl.doubtnut.com/l/_xtAuQNlzERNI

B. actin and myosin filaments shorten and

slide pass each other

C.actin and myosin filaments do not

shorten but rather slide pass each other

D. hen myofilaments slide pass each other

myosin filaments shorten while actin

filaments do not shorten

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xtAuQNlzERNI
https://dl.doubtnut.com/l/_n0fhdJ0oH1GW

58. Osteoporosis is an age related disease of

skeletal system, may occur due to ..............

A. decreased level of oestrogen

B. accumulation of uric acid leading to

inflammation of joints

C.immune disorder affecting

neuromuscular junction leading to

fatigue

D. high concentration of

Ca®" and Nat ™


https://dl.doubtnut.com/l/_n0fhdJ0oH1GW

Answer: A

o Watch Video Solution

59. Smooth muscles are..........

A. involuntary, fusiform, nonstriated

B. voluntary, multinucleated, cylindrical

C. Involuntary, cylindrical, striated

D. Voluntary, spindle shaped, uninucleated

Answer: A


https://dl.doubtnut.com/l/_n0fhdJ0oH1GW
https://dl.doubtnut.com/l/_U79OZ6oRlyp6

° Watch Video Solution

60. Glenoid cavity articulates ............

A. scapula with acromion

B. clavicle with scapula

C. humerus with scapula

D. clavicle with acromion

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_U79OZ6oRlyp6
https://dl.doubtnut.com/l/_qLfMFTYa5izG

61. Which of the following joints would allow

no movements?

A. Fibrous joint

B. cartilaginous joint

C. synovial joint

D. ball and socket joint

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qLfMFTYa5izG
https://dl.doubtnut.com/l/_JG5WwpdReIiS
https://dl.doubtnut.com/l/_KigZ5Uj2PDk8

62. Which of the following is not a function of

the skeletal system?

A. production of erythrocytes

B. storage of minerals

C. production of body heat

D. locomotion

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KigZ5Uj2PDk8

Additional Questions Solved Fill In The Blanks

1. The sperm cells show ... movement.

° Watch Video Solution

Additional Questions Solved Choose The Correct

Answer

1. Which of the following is not related to

skeletal muscle?


https://dl.doubtnut.com/l/_kXmVMbxtuDVH
https://dl.doubtnut.com/l/_nFH02tU3Aj3k

A. It is attached to the bone

B. It is striated

C. It is an involuntary muscle

D. It brings about movement of the organ

Answer: C

o Watch Video Solution

2. The skeletal system is derived from the ......

A. ectoderm


https://dl.doubtnut.com/l/_nFH02tU3Aj3k
https://dl.doubtnut.com/l/_Hs7NrraWwc7m

B. endoderm

C. mesoderm

D. mesoglea

Answer: C

o Watch Video Solution

3. The cytoplasm of the muscle fibre is called

A. sarcolemma

B. sarcoplasm


https://dl.doubtnut.com/l/_Hs7NrraWwc7m
https://dl.doubtnut.com/l/_cRwcuAf2162n

C. ectoplasm

D. endoplasm

Answer: B

° Watch Video Solution

4.The thick filament of muscle fibre is made up

A. actin

B. myosin


https://dl.doubtnut.com/l/_cRwcuAf2162n
https://dl.doubtnut.com/l/_gUVJrhOYCdXi

C. tropomyosin

D. troponin

Answer: B

° Watch Video Solution

5.The cranial bones are. ..............

A 22

B.14

C.8


https://dl.doubtnut.com/l/_gUVJrhOYCdXi
https://dl.doubtnut.com/l/_x276FX1abiGQ

D.3

Answer: C

° Watch Video Solution

6. Where is the hyoid bone present?

A. Cranium

B. Appendicular skeleton

C. Pectoral girdle

D. Base of the buccal cavity


https://dl.doubtnut.com/l/_x276FX1abiGQ
https://dl.doubtnut.com/l/_hc00cqqlW0qt

Answer: D

o Watch Video Solution

7. The number of vertebrates is ...

A.8

B.12

C.5

D. 33

Answer: D


https://dl.doubtnut.com/l/_hc00cqqlW0qt
https://dl.doubtnut.com/l/_gn0Nr1II25EA

° Watch Video Solution

8. How many thoracic vertebrates are there?

A7

B. 12

C.5

D. 4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gn0Nr1II25EA
https://dl.doubtnut.com/l/_0cuWX5T5IWqP

9. Analogy: Rib cage protects: Lungs. Skull

protects :

A. brain

B. kidney

C.lungs, heart, liver

D. heart

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0cuWX5T5IWqP
https://dl.doubtnut.com/l/_Cah3G5uVpZ2a
https://dl.doubtnut.com/l/_yTe9GVSoKkAA

10. The fore arm bones are the. ...............

A. tibia and fibula

B. radius and ulna

C. carpals and metacarpals

D. tarsal and metatarsals

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yTe9GVSoKkAA

11. The joint between carpal and metacarpals is

A. Pivot joint

B. Ball and socket joint

C. Saddle joint

D. Hinge joint

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kcblxc84kqEA
https://dl.doubtnut.com/l/_yhGS2l99wjfX

12. Which of the following allows movement in

only one direction?

A. Pivot joint

B. Ball and socket joint

C. Saddle joint

D. Hinge joint

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yhGS2l99wjfX

13. Which of the following disorders is related

to endocrine gland?

A. Myasthenia gravis

B. Tetany

C. Atrophy

D. Muscular dystrophy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nLekzaIJss6a
https://dl.doubtnut.com/l/_JhQX95zTr5bd

14. Which of the following arthritis is related

to protein metabolism?

A. Osteoarthritis

B. Rheumatoid arthritis

C. Gouty arthritis

D. Osteoporosis

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JhQX95zTr5bd

15. Which of the following is deficiency

disorder?

A. Osteoarthritis

B. Rheumatoid arthritis

C. Gouty arthritis

D. Osteoporosis

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bwXSt4NeuJcv
https://dl.doubtnut.com/l/_vg5fau9Gftio

16. Skeletal muscles are attached to the bones

by

° Watch Video Solution

17. The cytoplasm of the muscle fibre is called

° Watch Video Solution

£ F— is a red coloured respiratory

pigment of the muscle fibre.

I o Watch Video Solution


https://dl.doubtnut.com/l/_vg5fau9Gftio
https://dl.doubtnut.com/l/_ahkz8SDgDKbT
https://dl.doubtnut.com/l/_YemeT9z0q3Y7

19, . are the granules of stored

glycogen.

° Watch Video Solution

20. ... is the functional unit of the

skeletal muscle.

o Watch Video Solution



https://dl.doubtnut.com/l/_YemeT9z0q3Y7
https://dl.doubtnut.com/l/_riaPVxRIyZbV
https://dl.doubtnut.com/l/_hqkVq1w3gxwy

21. The protein present in the thick flament is

o Watch Video Solution

22. The monomer of the myosin molecule is

o Watch Video Solution

23. The study of muscle is called ...

o Watch Video Solution



https://dl.doubtnut.com/l/_fWR9uLcIY1g8
https://dl.doubtnut.com/l/_262jxQDR51Am
https://dl.doubtnut.com/l/_r7ENpzFItOab

24. The junction between the motor neuron
and the sarcolemma of the muscle fibre is

called the ......

° Watch Video Solution

25. When nerve impulse reaches a

neuromuscular junction, is released ...

o Watch Video Solution



https://dl.doubtnut.com/l/_r7ENpzFItOab
https://dl.doubtnut.com/l/_yB5ePW6oEjx4
https://dl.doubtnut.com/l/_nAYH5v916AAR
https://dl.doubtnut.com/l/_2ZXYYKcbXsvq

26. In......... contraction the length of the
muscle changes but the tension remains

constant.

o Watch Video Solution

27. In ... contraction the length of the
muscle does not change but the tension of

the muscle changes.

o Watch Video Solution



https://dl.doubtnut.com/l/_2ZXYYKcbXsvq
https://dl.doubtnut.com/l/_bsd6d4Jw7AsO
https://dl.doubtnut.com/l/_QFPG7SyvD6ev

28. The oxidative fibres are called as ....... fibres.

o Watch Video Solution

29. Glycolytic fibres or white muscle fibres lack

o Watch Video Solution

30. The skeletal system is derived from the .......

o Watch Video Solution



https://dl.doubtnut.com/l/_QFPG7SyvD6ev
https://dl.doubtnut.com/l/_thtb83203iEk
https://dl.doubtnut.com/l/_V6yaE1LDERn1

31.RBCs are formed in the

o Watch Video Solution

32. The large hole in the temporal bone is the

o Watch Video Solution

33. The lower jaw bone is called ..

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqVn7V9RrI5x
https://dl.doubtnut.com/l/_9ywsCv7pHvRS
https://dl.doubtnut.com/l/_PEqJHs2nB0ze

34. Which is the only jointless bone in human

body?

o Watch Video Solution

35. The upper jaw is formed of the .....

o Watch Video Solution



https://dl.doubtnut.com/l/_PEqJHs2nB0ze
https://dl.doubtnut.com/l/_FPlaRQVnlCjK
https://dl.doubtnut.com/l/_Ro42KeweLT1u

36. ..o is the large opening found at the

posterior base of the skull.

° Watch Video Solution

37. Through foramen magnum the medulla

oblongata continues as the ...

o Watch Video Solution

38. The first vertebra is called as the ..........



https://dl.doubtnut.com/l/_f4F7WfgDdsUB
https://dl.doubtnut.com/l/_0HSG05LkdSB0
https://dl.doubtnut.com/l/_tfNWiJ8SyKru

o Watch Video Solution

39. The second vertebra is called as the ...........

o Watch Video Solution

40. The cranium protects the .........

o Watch Video Solution



https://dl.doubtnut.com/l/_tfNWiJ8SyKru
https://dl.doubtnut.com/l/_yvNjMfIPvBRf
https://dl.doubtnut.com/l/_3I19sSqqmtbe

41. ... is the flat bone on the mid ventral

line of the thorax.

o Watch Video Solution

42. The first seven pairs of ribs are called

o Watch Video Solution



https://dl.doubtnut.com/l/_iFg8R0Qvvux0
https://dl.doubtnut.com/l/_INwgp1G8YGLh

43. The 11th and 12th pairs of ribs are called as

o Watch Video Solution

44, The 8th, 9th and 10th pairs of ribs are

called ............. ribs.

o Watch Video Solution

45, Rib cage plays arole in ...



https://dl.doubtnut.com/l/_AKD1zT9X8SbQ
https://dl.doubtnut.com/l/_WrHvFtpjta1D
https://dl.doubtnut.com/l/_3YreZhaj2rqg

o Watch Video Solution

46. .............. is a depression in the pectoral girdle
on which the head of the humerus form the

shoulder joint.

o Watch Video Solution

47. oo, is situated at the upper end of the
ulna which forms the pointed portion of the

elbow.

| & I


https://dl.doubtnut.com/l/_3YreZhaj2rqg
https://dl.doubtnut.com/l/_UO3gK6aITad7
https://dl.doubtnut.com/l/_hS7n81TKlgyE

| ¥ View Text Solution |

48. ... is the largest, longest and strongest

bone in the body.

o Watch Video Solution

49, The head of femur articulates with the

............ of the pelvis to form the hip joint.

o Watch Video Solution



https://dl.doubtnut.com/l/_hS7n81TKlgyE
https://dl.doubtnut.com/l/_36tyR2FyRIG5
https://dl.doubtnut.com/l/_GR0RCwitgX1K
https://dl.doubtnut.com/l/_ovzczo2bCZJC

50. The bone forming cells are called ...

o Watch Video Solution

51. The bone destroying cells are called the

° Watch Video Solution

52 .. cells give rise to the osteoblasts.

° Watch Video Solution



https://dl.doubtnut.com/l/_ovzczo2bCZJC
https://dl.doubtnut.com/l/_aPExoj85vSif
https://dl.doubtnut.com/l/_3W7MUiQmUCZX

53. The internal bone surfaces are covered

with a delicate connective tissue membrane

called the. ........

o View Text Solution

54. Between the epiphysis and diaphysis.

................ Is present.

° Watch Video Solution



https://dl.doubtnut.com/l/_Iw3aie67sQvJ
https://dl.doubtnut.com/l/_J4bYzgJeFk0l

55. The ........ are points of contact between the

bones.

o Watch Video Solution

56. Sutures of the flat skull bones are ...

Joints.

o Watch Video Solution

57. ....... are the freely movable joints.



https://dl.doubtnut.com/l/_UlcY7iEL2a0s
https://dl.doubtnut.com/l/_JB2QJ5l4hGeo
https://dl.doubtnut.com/l/_bTB6LdB9vSrF

o Watch Video Solution

58. 1. Ball and socket joint - (i) Shoulder joint

2. Pivot joint - (ii) Joint between atlas and axis.
3. Hinge joint - (iii) Elbow joint

4. Gliding joint - (iv) Joint between sternum

and clavicle.

o Watch Video Solution



https://dl.doubtnut.com/l/_bTB6LdB9vSrF
https://dl.doubtnut.com/l/_qvh8hqNVZOFJ

59. Name the type of joint between the
following:

(a) atlas/axis

(b) carpal/metacarpal of thumb

(c) between phalanges

(d) femur/acetabulum

(e) between cranial bones

(f) between pubic bones in the pelvic girdle

o Watch Video Solution



https://dl.doubtnut.com/l/_6xRX72CvV8PI

60. Phyllode is present in

o Watch Video Solution

61. Between humerus and pectoral girdle ...

joint is seen.

o Watch Video Solution

62.is a autoimmune disease.

o Watch Video Solution



https://dl.doubtnut.com/l/_Oye9UFoTtIHU
https://dl.doubtnut.com/l/_IbHQksYv9JIZ
https://dl.doubtnut.com/l/_n1NcKhn45Saq

63. What would happen if the parathyroid

gland was removed?

o Watch Video Solution

64. A traumatic pulling of the fibres produces

a tear known as ........

o Watch Video Solution



https://dl.doubtnut.com/l/_n1NcKhn45Saq
https://dl.doubtnut.com/l/_Yz8LpikyBe7o
https://dl.doubtnut.com/l/_99a9VYlNEBcw

65, e is an inflammatory or

degenerative disease that damages the joints.

° Watch Video Solution

66. The wearing away of the bone ends of the

knees and other movable joints is called ..............

o Watch Video Solution



https://dl.doubtnut.com/l/_dmcsxwGRZJ6Z
https://dl.doubtnut.com/l/_afYLupMmTNHU

67. The inflammation of the synovial

membranes is known as ........

o Watch Video Solution

68. Inflammation of joints due to accumulation

of uric acid crystals is called as

o Watch Video Solution

69. Deficiency of vitamin D causes



https://dl.doubtnut.com/l/_rShjGs30o81A
https://dl.doubtnut.com/l/_yLhWFXUPW49f
https://dl.doubtnut.com/l/_2bHQG1iC0LMB

o Watch Video Solution

70. Deficiency of vitamin D causes

o Watch Video Solution

71. Deficiency of vitamin D causes

o Watch Video Solution



https://dl.doubtnut.com/l/_2bHQG1iC0LMB
https://dl.doubtnut.com/l/_IEvdHqxwK2PD
https://dl.doubtnut.com/l/_1lw63yiiRouL

72. . increase the breathing and heart

rate.

o Watch Video Solution

73. .. protects us from heart attack.

o Watch Video Solution

Additional Questions Solved Short Answer

Questions



https://dl.doubtnut.com/l/_G48TKRi7gzbr
https://dl.doubtnut.com/l/_O1v5PI0If6Oz
https://dl.doubtnut.com/l/_kvBN5RDuZDBE

1. What is amoeboid movement ?

° Watch Video Solution

2. What is ciliary movement?

° Watch Video Solution

3. What is flagellar movement?

° Watch Video Solution



https://dl.doubtnut.com/l/_kvBN5RDuZDBE
https://dl.doubtnut.com/l/_FG8hu5iNGzor
https://dl.doubtnut.com/l/_Y7wMok0Ag1kg
https://dl.doubtnut.com/l/_lkV8pWdjyvaO

4. What is muscular movement?

° Watch Video Solution

5. What is fascicle?

° Watch Video Solution

6. What are myofibrils?

° Watch Video Solution



https://dl.doubtnut.com/l/_lkV8pWdjyvaO
https://dl.doubtnut.com/l/_6z4oOCLQHdlA
https://dl.doubtnut.com/l/_hFFhmypKxaFu
https://dl.doubtnut.com/l/_1jxzmL9Yj6Q2

7.What is epimysium?

° Watch Video Solution

8. What is perimysium?

° Watch Video Solution

9. What is endomysium?

° Watch Video Solution



https://dl.doubtnut.com/l/_1jxzmL9Yj6Q2
https://dl.doubtnut.com/l/_EBkSPDG8sm1X
https://dl.doubtnut.com/l/_RzcBA7g5DjHi
https://dl.doubtnut.com/l/_Jae9i6i8uz3M

10. Differentiate between the

muscles and involuntary muscles.

voluntary

° Watch Video Solution

11. What is tendon?

° Watch Video Solution

12. What is myoglobin ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Jae9i6i8uz3M
https://dl.doubtnut.com/l/_Ahr75o6nXtj1
https://dl.doubtnut.com/l/_Fu1A6msNjuGw

13. What is sarcoplasm?

o Watch Video Solution

14. What are glycosomes?

o Watch Video Solution

15. What is sarcomere?

o Watch Video Solution



https://dl.doubtnut.com/l/_sygYC7ZHe2CI
https://dl.doubtnut.com/l/_0HovgJvcEjV6
https://dl.doubtnut.com/l/_ZBC0e7j2n674

16. Differentiate thick filaments and thin

filaments.

o Watch Video Solution

17. What is meromyosin?

o Watch Video Solution

18. Name the proteins which regulates the

contraction of muscles .



https://dl.doubtnut.com/l/_cTNLaBsQRkfj
https://dl.doubtnut.com/l/_UxvSrT1vT4Yn
https://dl.doubtnut.com/l/_cgEP4hkoQFkj

o Watch Video Solution

19. What is myology?

o Watch Video Solution

20. The oxidative fibres are called as ....... fibres.

o Watch Video Solution

21. What are glycolytic fibres?



https://dl.doubtnut.com/l/_cgEP4hkoQFkj
https://dl.doubtnut.com/l/_HL9AAQaR7eEJ
https://dl.doubtnut.com/l/_6xlJkEBntcVN
https://dl.doubtnut.com/l/_NL728ZTUC1Bh

o Watch Video Solution

22. What is hydrostatic skeleton?

o Watch Video Solution

23. Distinguish between exoskeleton and

endoskeleton.

o Watch Video Solution



https://dl.doubtnut.com/l/_NL728ZTUC1Bh
https://dl.doubtnut.com/l/_2KeoOdPxlpPM
https://dl.doubtnut.com/l/_c6odV3Guo2VG

24. What is metaphysis?

o Watch Video Solution

25. What is periosteum ?

o Watch Video Solution

26. What is endosteum?

o Watch Video Solution



https://dl.doubtnut.com/l/_B00JZX5zolMI
https://dl.doubtnut.com/l/_JVuCip1KJCcp
https://dl.doubtnut.com/l/_JDLntDj9iaDt

27. What is sternum?

o Watch Video Solution

Additional Questions Solved Give Long Answers

1. Explain the structure of a skeletal muscle

fibre.

o Watch Video Solution



https://dl.doubtnut.com/l/_GWgTleGX8sMk
https://dl.doubtnut.com/l/_3VdYrKYnWIko

2. Write the schematic presentation of muscle

contraction?

o Watch Video Solution

3. Explain the structure of contractile proteins.

o Watch Video Solution

4. Explain the types of skeletal muscle fibres.

o Watch Video Solution



https://dl.doubtnut.com/l/_8WLtjDpx66c2
https://dl.doubtnut.com/l/_Zg7MNtr1o6le
https://dl.doubtnut.com/l/_ugoSRYy3NY0V

5. Write the functions of skeletal system.

° Watch Video Solution

6. Explain the bones that form the skull.

° Watch Video Solution

7. Write a short note on the vertebral column.

° Watch Video Solution



https://dl.doubtnut.com/l/_ugoSRYy3NY0V
https://dl.doubtnut.com/l/_gn7zmiMKjgHf
https://dl.doubtnut.com/l/_7hHb2IQOadvS
https://dl.doubtnut.com/l/_shoLvg4MEPMP

8. Write a short note on rib cage.

o Watch Video Solution

9. Write a note on Pectoral girdle.

o Watch Video Solution

10. Write a note on the bones of the upper

l[imb.



https://dl.doubtnut.com/l/_shoLvg4MEPMP
https://dl.doubtnut.com/l/_LeDUu0zFYjXb
https://dl.doubtnut.com/l/_1fop7YjL3GuE
https://dl.doubtnut.com/l/_gdZecT8fW9PQ

o Watch Video Solution

11. Explain the structure of Pelvic Girdle.

o Watch Video Solution

12. Write a note on the bones of lower limb.

o Watch Video Solution

13. Explain the structure of a typical long bone.



https://dl.doubtnut.com/l/_gdZecT8fW9PQ
https://dl.doubtnut.com/l/_1K0JnT2ikrq6
https://dl.doubtnut.com/l/_QTrsk5LuVIWh
https://dl.doubtnut.com/l/_Fxl2aW5mTbAX

o Watch Video Solution

14. What are joints?

o Watch Video Solution

15. Explain the types of joints.

o Watch Video Solution



https://dl.doubtnut.com/l/_Fxl2aW5mTbAX
https://dl.doubtnut.com/l/_IjD6IuBHG546
https://dl.doubtnut.com/l/_DkYlH8izHsyQ

16. Define:-

Myasthenia gravis

o Watch Video Solution

17. Explain muscle fatigue.

o Watch Video Solution

18. Explain muscle atrophy.

o Watch Video Solution



https://dl.doubtnut.com/l/_IArdKfkpFRWv
https://dl.doubtnut.com/l/_VbJME35cab46
https://dl.doubtnut.com/l/_Rbh21IQobNJn

19. Write a short note on muscle pull.

° Watch Video Solution

20. Write a short note on muscular dystrophy.

° Watch Video Solution

21. Explain the disorders of skeletal system.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rbh21IQobNJn
https://dl.doubtnut.com/l/_r9THtKwosKz7
https://dl.doubtnut.com/l/_Ckiv0LDGJG1u
https://dl.doubtnut.com/l/_bJtp0Ecy7R1C

22. Explain the basic categories of exercise and

physical activity.

o Watch Video Solution



https://dl.doubtnut.com/l/_bJtp0Ecy7R1C
https://dl.doubtnut.com/l/_pnxivOuIDGWJ

